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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A FN044£07 H 28 H Hoketk - 103 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE H R 10. 00| AHxf 30 300 1, 944
H X k¥ 15. 00 | ¥ 800 12, 000 918 585 270
X 5D BOE 10. 00| AH%F 300 3,000| 1,048 887 540
E 9 NAE 5 % 4. 00| AH%F 52 208| 4,320 4,237| 4,104
EN 0.20| #xt| 220 VI o8|
H % & I 3. 00| FHxf 134 402 1,620| 1,247 756
H A ] 1L 1. 00| FHxf 340 340 594 426 324
= | 500 k%] 7| 351 | 0,160
AR s 5. 00| FH*} 373 1, 865 1,944 1,633 972
F o | 0.40| #Exf| 3,300 1,320 140 22| 76
= %O 4. 00| FH%f 592 2,368 1,620 1,141 756
RN Bl 5. 00| FHxf 28 140 1,404| 1,173 756
g OB | 5.00(#A%k| 1,861 7,805 1,620 1,234 756
v—< Bl 5. 00 [ FHx} 15 750 1,296 1,181 864
F o | 0.15|4A%k| 4,361 658 65| 6| 49
A7 k= b ElRiE3e 3. 00 | FHxt 581 1,743 2,592 1,919| 1,404
B b | 0.20 fuxf|  se0| 2 | 19|
Bt = OIR 2. 00| FH%F 11 22| 3,024| 1,591 756
H 7% w5 5. 00| FH%f 212 1,060| 2,484| 2,091| 1,620
RenE B 10. 00| AH %+ 5 50 1,674
A—0 4 S 5 10. 00 | #H%f 5 50 1,512 1,220] 1,026
B JEE I 10. 00 | AR} 11 110 2, 160
£ A L 10. 00| AHxf 1,711 17,110| 1,836| 1,681| 1,188
LA A E ¥ 10. 00| FA % 1, 630 16, 300 1,134 964 702
P=—LF R £ B 4. 00| AH%F 626 2,504| 1,080 704 108
Tuyal— E B 5. 50| ¥H%f 20 111| 2,700 2,087 1,512
L xon & A 4. 00 | FHxF 3 12 3, 240
AEMEE (i 0. 10| #Hxf | 5,050 505 140 106 43
ZDEH £ B 0. 20| FAxf 600 120 66 43
LU £ ¥ 0. 20 [ #Hx} 150 30 81 59 27




ID:1210 pP- 2
P g SR
2 W B #E7E Boal R
Rz A FN044£07 H 28 H EFER S 60 k> (Biir)
fh 4 JE Hh = (Mo | E=E e T fE g2y ]
PE (i % 5. 00 | #Hx} 1,221 6, 105 4, 320
GETE ool kx| s7| 148 3,996| 3,406| 3,024
B A — % ] L 2. 00| FH%f 50 100 3,780| 3,383| 2,592
[ERIIN £ 16. 00 | FH%f 438 7,008 3,888| 2,660
/NEPE K )1 10. 00 | #H%f 83 830| 3,240| 1,532
Avara 7 4 U E | 13.00| HH%F 15 195 2,484 2,448| 2,376




